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The ground-state electron configuration of oxygen atom is
and the ground state electron configuration of Ox

molecule 18

Sketceh the shape of 2p atomie orbital and H;P molecular orbital.

Name the following compounds;

CH,
CoH; O N NOy .
{:HE=E~—GEH5 , ! CH3=EHE—GN "

N,
CuBr, NaHS0,

Write the ehemical formular for the following compound:
styrene, Bibose, tatraethyllead, perchloric acid, Nitric axide.

A catalystisa that can increase the of a
reaction by decrease its energy being
itself consumed. v

Among 8ll elements, atomn has Lhe largest atomic
radius and atorn has the smallest radius. Amony all
atomic ions ion has the larpest radius while

ton has the smallest radius.




i "% E K 2 w H &

Nt BIHENL 5 T emrwmee e
i Sl g BER_3201 o WE o N HAEES (EEE] AR

HFMI05 » EEFRRIHFS

1. Schrodinger equation for an electron has a form of .
In this equation y is , Bin . And w2 has a
physical meaning of

2. The radinach'vé carbon-14 izotope decays according to the equation
14 .
IEC ~ g F+ . This decay obeys ~order

kinetics with a half-life of 5730 Yr. The rate constant of this decay is

. The activity of 14C in live bones iy 15,4 dpm/g of carhon,
A fossil hane with an activity of 3.8 dpm/g should belong {0 an animal
died YEATE agFo.

3. A sample hag a reversible phase transition of Po =+ Pn on raiging the
temperature to Ty with an endothermic change AH., ASg,rp and Absys

of this transition at Ty may ba estimated as and
ragpectively. ASuqiy has a value for the

phase tranaifion ai T > Ty a value at T = Ty and a
value at T'<T;.

4. Arcording to the Table below, AH®, AS® and AG® of the réaction

CaC(3 === a0+ C0Ozare ; and
respectively. The vapor pressure of COz (Pops) at
205 K should be . Un agssuming AH® and AS® do not
alter with T, then Popo will become T atm at T = K.
Compound CaCO3 Ca0 0y
AH# kT mol-1 - 1207 -536 —504
S5/ K-1mol-1 a3 4{) 214

.F"'.




